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EXIST. 2x12@20" /
EXIST. TIMBER /
ROOF BEAM
EXIST. 4x4 /
EXIST. 4x4@36" / 3/4"® THREADED ROD @ 16"
STAGGERED TOP AND BOTTOM
LOCATE 3" FROM TOP AND
SIMPSON U2I0R ~\ / LOCATE > FRO!
% P
l’ !’1 !/!’Y !/!’Y !/!’Y !/!’Y !/!’Y !/!/!,;@7;}‘/\ ‘
1

EXIST.
2x12@20"CEILING / (2)2x10 BLOCKING. FASTEN
FRAMING BEARING IST PIECE TO CI12 WEB WITH

ON LEDGER (2) 0.145"Px2" P.AF. SPACED
AT 16" FASTEN 2ND PIECE
TO I1ST WITH (3) 10d NAILS
SPACED AT 12"

Cl12x20.1 BOTH SIDES

EXIST. TIMBER
CEILING BEAM SECTION |

Li/2'=1-0"  S|.04

SHORE EXIST CEILING FRAMING.

CUT CEILING FRAMING BACK AND REMOVE LEDGERS.
INSTALL Cl12 AND THREADED RODS.

INSTALL BLOCKING AND CEILING FRAMING HANGERS.
REMOVE EXISTING TIMBER COLUMN.

AN

EXIST. 2x12@22"

EXIST. TIMBER

SIMPSON CCT /& / CEILING BEAM
W2 = BEAM WIDTH

(FIELD VERIFY)

IxT PSL COLUMN /

(4) 3/8"x2 1/2"
LAG SCRENWS

(2) INTO BEAM AND PL 1/2"x&"XI'-O" WITH
PL 1/4"x6"xO'-6"

3RD FLOOR
(2) INTO COLUMN COLUMN SIDE FINS |7

AN

EXIST. 2x12@22"

EXIST. TIMBER
BEAM

EXIST. TIMBER COLUMN.
VERIFY THAT COLUMNS
ALIGN FROM BRICK PIER IN

\]\ THE BASEMENT TO THE
THIRD FLOOR BEAM

SECTION 3
"=1-o" 5103
S1.04

EXIST. 2x12@20"

EXIST. TIMBER
ROOF BEAM

EXIST. 4x4 /
EXIST. 4x4@36" /

qll

2II

(4) 3/4"¢ THREADED RODS

EXIST. 2x12@20"

0 0 O/
N0
K
A0 o
R 0
/
1] a\ 3”
3/4"¢ THREADED RODS / 5
STAGGERED AT 16"
_ IN
C12x20.1 BOTH SIDES O EXIST. TIMBER
CEILING BEAM
] © CoxS 2xI'-0" BOTH SIDES
o \ TIGHT TO CI2
(4) 3/4"® THREADED RODS
\ EXIST. TIMBER COLUMN
A
SECTION 2
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